[ Efficiency vs vertpos |
0.5

0.45
0.4
0.35]
0.3
0.25
0.2
0.15
0.1
0.05
Q

0.95

0.9 . . .
1072 107 1 10 10?

Efficiend — DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__RECO

0.2

T RSSO SUSRIIE O O0 SUOON SOOI S
ORT SRS SPURESN (1 SUSES SRS S
CRVI RN OSSN S 6 S o
R S
0.15— ------
0,08+ -+rrrrriror |
0.06 -+ remedenee|
Y571 S SO W U
0.02F -
o] PP SN S Y
0.955— ....... ________ ________ ________
R T = T ) 10 20 30

[ Efficiency vs. sim PV z |
0.2

0.18
0.16)
0.14
0.12

0.1
0.08
0.06)
0.04
0.02
of

Iy

095+ e Freeeeeens T ERTERRRE

0.

|©



	Contents
	Page 1


